SUBTRACTION SENTENCE

## Subtraction Sentence

## Minuend

Subtrahend $\qquad$ 3 Difference E

Example 1:
Find the subtraction sentence.

$$
5-3=?
$$

## Solution:

$$
\begin{aligned}
& 5-3=\text { x } \\
& =2
\end{aligned}
$$

Therefore,

$$
5-3=2
$$

## Example 2:

Find the subtraction sentence.


## Solution:



Therefore,

$$
4-2
$$

Example 3: Find the subtraction sentence.

$$
9-5=?
$$

Solution:


Therefore,

$$
9-5=4
$$

Example 4:
Find the subtraction sentence.

$$
8-3=?
$$

## Solution:



Therefore,

$$
8-3=5
$$

Example 5: Find the subtraction sentence.

## Solution:

$$
10-?=7
$$

To find the subtrahend, move the difference to the left hand side.
Minuend - difference $=$ subtrahend

$$
10-7=?
$$

$$
\begin{aligned}
& 10-7=0909 \text { 是 } \\
& =0909
\end{aligned}
$$

Therefore,

$$
10-3=7
$$

Example 6: Find the subtraction sentence.
Solution:

$$
6-?=2
$$

To find the subtrahend, move the difference to the left hand side.
Minuend - difference $=$ subtrahend

$$
6-2=?
$$

$$
\begin{aligned}
& 6-2=\quad \therefore \because \quad \therefore \because \because \because \quad \therefore \quad \therefore \because: \\
& =\quad \because \because \because \quad \because \because \quad \because \square
\end{aligned}
$$

Therefore,

$$
6-4=2
$$

Example 7:
Find the subtraction sentence.

Solution:

$$
9-?=3
$$

To find the subtrahend, move the difference to the left hand side.
Minuend - difference = subtrahend

$$
9-3=?
$$

$$
\begin{aligned}
9-3 & =\text { xx } \\
& =\text { nn hn hn }
\end{aligned}
$$

Therefore,

$$
9-6=3
$$

Example 8: Find the subtraction sentence.

## Solution:

$$
4-?=1
$$

To find the subtrahend, move the difference to the left hand side.
Minuend - difference $=$ subtrahend

$$
4-1=?
$$

$$
\begin{aligned}
4-1 & =\text { 当 }
\end{aligned}
$$

Therefore,
$4-3=1$

Example 9: Find the subtraction sentence.

## Solution:

$$
7-?=2
$$

To find the subtrahend, move the difference to the left hand side.
Minuend - difference = subtrahend

$$
7-2=?
$$

$$
7-2=\text { ® } \curvearrowleft \text { ® }
$$

$$
=\curvearrowleft \curvearrowleft \curvearrowleft \curvearrowleft \circledR
$$

Therefore,

$$
7-5=5
$$

